Algebra 2
Chapter 6 (6.1 to 6.3) Practice Test

Name ID: 1

Detess = Date Period
RiGWEST SXANENT

Name each polynomial by degree and number of terms. ' Name S

1) 9 D:lousic
T MorMtT AL

3) 4-10° hrlam eae
o 1 NoMAL AL

/-_'N>
55 DD lonwsmnT

Ty MonemiklL

T . MONIMLAL

Simplify each sum. Clom'sine Like Terms
o

o
9) (7x* - 54+ 63 + (54 + 6x* = 1)
[—x1-x2]

11) (—4x+ Bx° + 1) + (—1 + 5x +3x2)

Mix

Simplify each difference. 2.5 A<

—
13) ( 8x3 +5x+8x) ( Tx* + x? 8x3)
TR L

[isxt-x24ex |

—

. T

15)( B 4 Y —5) (1 —.3x3+8x4)
_3x 43 —E—H’gggj—j{f_‘f

L--SxLl ek

e

—
2) 8+8r—8}® b QU‘AQL*T\C

— T TQiNumin- 1 Bj_E-US
\~——-"3 { { = Hauar-'ﬂﬁr"-

2 - GumnoMmiat

4) 4@+ 4k* DI CVs C . ':;2.."1'9_“\.qoaim
- T Binemiac :._p cornn
.\“n TE”ZMS

—

-
6) —3n 5m—3 DY QuAbeATC | fy Décese
-— | —

T TeingmiAt

———

Q 'O’ Constent
%[—Li«lﬁ"‘
8)_4_;1.—1;_12+3—4;@ D :tusic *lz_a,g._lm'(
T witw | eBaleis
ERMS |4 -
L-‘ T . @UM—\-\C—
10) (=5x* + 5x° + 6) + (=5x° — 4x* - 8)

m

12) (~4x* +7 +x%) + (-4 + 4x* - 8x?)

s X 2

A PO DI Mo ?LoéuM

14) ( 3x —x+8) (6+x +8x)
IRZ=XIYE =L =X~ Fx

| Zx = ax+3)

AN
16) (=5 — 7x% + 7x*) — (<2x* - 8 — 4x*)
csoaxHTxt + 252+ +4x

ﬂ\x‘*—-'ﬁ‘x@




Write in simplified exponential form then evaluate.
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Simplify. Your answer should contain only positive exponents.
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Find each product.
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Muiltiply. Expand completely.
41) (x+4)P —> EXPANY

( x+) @HL\)( X44)

o 1% bMdu\'\c‘s

(x+4) ()‘ 24 yx +Y9x le
me Z 4 §X /-\-I(:)

\_____/

RS ER 18
X *:—EXL"‘BRX-{‘GL*:

| x B2 2448 x40 \.

oo,
32) —6x>(8x> — 4x—2)

=S 24 x 1+ 127

34) (@ -~ 8)

TR -1bh—20844q =
———

t?gz~3553§:}
36) (25 +8)(26 - 8)

YB2 1epd +1b® —6¥ =
Hel-WM

RN
0
- —

38) (4n-2 —> EXPAND

,/"-_'_'—-'-\
(4N -)( 4N -2)
lenZT-gN —FN+Y

]]sz-\L,M-‘rH
b T

T
40) (5x +4)(4x> - 8x+6)
e TR

20X 2-Y4ox+ 30X
& in® ~3LN £2Y *

e . |
\Zox -2 x -z x+24 {

42) (x-5 —2 exPan0
(x-)(x-5) (x-)*
(= (xE-1ox +25)"

% 2= oy L4 I5X
“GXZ +S0¢ ~)JS =

l X 2-IS X T+Is X -lis 1




Evaluate each function at the‘ given value. Show synthetic substitution or simple substitution.
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